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分数のたし算 

  年   組 
 
名前 
 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

１ たし算をしましょう。 

 

①  
３

４
 ＋ 

１

６
 ＝ 

１１

１２
  

 

②  
１

４
 ＋ 

３

１０
 ＝ 

１１

２０
  

 

③  
１

８
 ＋ 

１

１２
 ＝ 

５

２４
  

 

④  
１

６
 ＋ 

３

８
 ＝ 

１３

２４
  

 

⑤  
１

９
 ＋ 

５

１２
 ＝ 

１９

３６
  

 

⑥  
１

８
 ＋ 

１

２０
 ＝ 

７

４０
  

 

⑦  
１

６
 ＋ 

４

１５
 ＝ 

１３

３０
  

 

⑧  
５

９
 ＋ 

１

１５
 ＝ 

２８

４５
  

 

⑨  
２

９
 ＋ 

１

６
 ＝ 

７

１８
  

 

⑩  
３

１４
 ＋ 

３

８
 ＝ 

３３

５６
  

２ たし算をしましょう。答えは帯分

数にしましょう。 

①  
５

８
 ＋ 

５

６
 ＝ 

３５

２４
 ＝１

１１

２４
  

 

②  
５

６
 ＋ 

８

９
 ＝ 

３１

１８
 ＝１

１３

１８
  

 

③  
３

４
 ＋ 

５

６
 ＝ 

１９

１２
  ＝１

７

１２
  

 

④  
９

２０
 ＋ 

７

８
 ＝ 

５３

４０
 ＝１

１３

４０
  

 

⑤  
７

１０
 ＋ 

８

１５
 ＝ 

３７

３０
 ＝１

７

３０
  

 

⑥  
５

１２
 ＋ 

７

８
 ＝ 

３１

２４
 ＝１

７

２４
  

 

⑦  
７

９
 ＋ 

５

１２
 ＝ 

４３

３６
 ＝１

７

３６
  

 

⑧  
１３

１５
 ＋ 

５

６
 ＝ 

５１

３０
 ＝１

２１

３０
  

 

⑨  
１３

１８
 ＋ 

７

１２
 ＝ 

４７

３６
 ＝１

１１

３６
  

 

⑩  
１１

１２
 ＋ 

１１

１６
 ＝ 

７７

４８
 ＝１

２９

４８
  

 

取り組んだ日   月   日 


